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el SXE A3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= Al 434,655 783,185 A348,530
=A% 24 367,500 707,945 A350,445
=SAEH Al 357,500 707,945 350,445
S ARDFO=SAAY 58,900 59,000 A100
401 AlZHIZ SO 58,900 59,000 A100
01 A28l 58,900 59,000 A100
OarE2=FEEAAS 50,000
OF2Al A 8,900
S A2 146,516 510,261 A363,745
101 @124H| 28,639 26,970 1,669
M IIRINZENSES 28,639 26,970 1,669
=2 T2 JIREY|
161,900 x 142 +53] 11,333
OggAg oIfy 78,8803 x 1 »60! 4,733
Ogel 121 155 MEsgs 2 UFY
1,300,000& 0 11,700
OggoIR A2 = 4,732,800 *11% 521
O=2 =28 JiZ & S3 JH| &2 352
201 etz 3| 54,860 60,532 N5,672
01 At 2|l 22,360 27,032 N4,672
Oger=2g| 13,700
OF AR A 100,000 x 104 2% 123 1,200
Otlatd 2018 & HIdESAHEIA 01
= 5,0002* 14 A 12012 60
odll 121 155 d=sgs 24| 4,000
OSAlHE BZEME 1,400
O1€ 117 - 2MAIE 2= 29 2,000
02 S5=2g4l 32,500 33,500 21,000
O8&82= € HA 10,000
OUWIIXIBHAtE FAIZ=8] 10,000
OgzH| 4,000
OAlZ EHIs Xl 2,500
OXtet| 6,000
206 MH=Hl 9,777 10,819 A1,042
01 MZH| 9,777 10,819 A1,042
OEx 2224 500
oRgs JiZ2+2 i 3,000
Ogdas K5I 6.277
=R 1,6192%3,500 £ 5,667
R 1,7413350 £ 610
301 EtE2 N = 23,240 23,240
4Bt 23 23,240 23,240
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el SXE A3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogl 121 155 MSEs SArd
35,0003 166 Al 2t+4 101 & 23,240
401 AIZHIX R0 30,000 382,000 /352,000
01 AlZH| 30,000 382,000 /352,000
OFAL 52 &=+ SAH 30,000
=A% Hsgdi=g 7,284 9,834 2,550
301 22N = 7,284 9,834 A2,550
06 AHELHUHAEIXIR 7,284 9.834 A2,550
O=XA =gl 249 7,284
Al 24 7,284
=AY SclgE2d 131,300 103,350 27,950
301 EtE N = 131,300 103,350 27,950
07 S8 -0 - HES2d3 124,100 96,150 27,950
ool Jle=g 400,000 *20E* 12& 96,000
ool &o=2 400, 000 *20E *200% 16,000
OO0l slolarasg
20,0003 x20E 123 +23] 9,600
ogtd 2= 25,0002 x50 *23] 2,500
14 DBt 2 a3 7,200 7,200 0
ooy salea 30,0003 =20+ 122 7,200
SAH AR2AKIR 13,500 25,500 212,000
201 et 3| 9,000 21,000 212,000
03 A2 I 9,000 21,000 212,000
Ol A2 9,000
301 EtE NS 4,500 4,500
11 dAMEEIXIE S 3,500 3,500
OL2IHOIEZUZ 20,0002 x25% 500
OF&hl 20,0002 x50 1,000
OJIEtH AL 20,0002 +40H 800
O0IF(28) cettial 60,0002 x20 1,200
14 JIEt2d= 1,000 1,000 0
Osae2 1,000
=Ad Mol & et 22 36,500 36,500 0
=A% ol ML o 36,500 36,500 0
=Ad Mol o & S5 X2 36,500 36,500 0
201 et 3| 36,500 36,500 0
01 At22t2l] 36,500 36,500 0
Oss=7 St 8xtg 1,500
Odtd =Xl2cl &bl Sx= 35,000
=SAd =283 40,655 38,740 1,915
=Ag J|=23d| 40,655 38,740 1,915
=Ag Jl=3H| 40,655 38,740 1,915
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3 S 23
ol SXE JlE2&hl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 4,89% 4,820 75
01 At2teltl 4,8% 4,820 75
OF2g M= 25,0003 %119 2,975
o=l 1,820
202 04| 24,600 22,800 1,800
01 2K 1,200 1,200 0
O=LHNHI 1,200
02 XN 23,400 21,600 1,800
OZA04H| 150,000 x13E « 12& 23,400
203 HR=H| 11,160 1,120 40
o122y 7,600 7,600 0
oHd 7,600
02 At RS &| 560 520 40
OZ3IRIER=8H] 40,0002 14 560
M FA2HHIFII 3,000 3,000 0
ORNSgERF=AHI 3,000




